
≔a ―
45

82
≔b →trunc((a)) 0 ≔c →floor ((a)) 0

≔bb →trunc
⎛
⎜
⎝
―
1

a

⎞
⎟
⎠

1 ≔cc →floor
⎛
⎜
⎝
―
1

a

⎞
⎟
⎠

1

――――――→―
45

82

,confrac fraction
―――――――――

1

+1 ―――――――
1

+1 ――――――
1

+4 ―――――
1

+1 ――――
1

+1 ――
1

+1 ―
1

2

―
45

82

→denom((a)) 82

→numer((a)) 45



Only the first step of programing for a=45/82. 

≔a ―
45

82
≔aa →denom((a)) 82 ≔ab →numer((a)) 45

≔a ――
-8

45
≔b →trunc((a)) 0 ≔c →floor ((a)) -1

≔bb →trunc
⎛
⎜
⎝
―
1

a

⎞
⎟
⎠

-5 ≔cc →floor
⎛
⎜
⎝
―
1

a

⎞
⎟
⎠

-6

≔a ――
-3

-8
≔b →trunc((a)) 0 ≔c →floor ((a)) 0

≔bb →trunc
⎛
⎜
⎝
―
1

a

⎞
⎟
⎠

2 ≔cc →floor
⎛
⎜
⎝
―
1

a

⎞
⎟
⎠

2

≔a ――
1

-3
≔b →trunc((a)) 0 ≔c →floor ((a)) -1

≔bb →trunc
⎛
⎜
⎝
―
1

a

⎞
⎟
⎠

-3 ≔cc →floor
⎛
⎜
⎝
―
1

a

⎞
⎟
⎠

-3

≔conf2 (( ,x y)) ‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖
‖‖

←i 0
←ad x

←an y

←c
i

+trunc
⎛
⎜
⎝
――
ad

an

⎞
⎟
⎠

1

←ad -ad ⋅c
i
an

←c
+i 1

floor
⎛
⎜
⎝
――
an

ad

⎞
⎟
⎠

←an -an ⋅c
+i 1

ad

←i +i 2

←c
i

+trunc
⎛
⎜
⎝
――
ad

an

⎞
⎟
⎠

1

←ad -ad ⋅c
i
an

←c
+i 1

floor
⎛
⎜
⎝
――
an

ad

⎞
⎟
⎠

←an -an ⋅c
+i 1

ad

return c

→conf2 (( ,aa ab))

2
-6
3
-3

⎡
⎢
⎢
⎢
⎣

⎤
⎥
⎥
⎥
⎦

⎡ ⎤



→conf2 (( ,82 46))

2
-5
3
-2

⎡
⎢
⎢
⎢
⎣

⎤
⎥
⎥
⎥
⎦

→――――――
1

+2 ―――――
1

+-5 ―――
1

+3 ――
1

-2

―
23

41
→―

46

82
―
23

41

→conf2 (( ,31 21))

2
-2
12
-1

⎡
⎢
⎢
⎢
⎣

⎤
⎥
⎥
⎥
⎦

→――――――
1

+2 ―――――
1

+-2 ―――
1

+12 ――
1

-1

―
21

31
→―

21

31
―
21

31


